Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

0.25
0.2
0.15
0.1
0.05
10Q

—=— DQM_V0001_R00000000L_Global _cmssw1000ime _RECO

Ratio

1.1F--| —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewBins1DC1000time__ RECO
1] . el L .
0.9 L : e
1073 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |

§ 0.1

0 0.09

=

o

z 0.08

£20.07

>

20.06

@

o

£ 0.05]

3]
0.04
0.03
0.02

0.0

[y

107 1072 107t
AR(TP, jet)

0.02------ R AR EEEEL SRR REE R
o 0f——rt |
© F d 4
& 1.05F---f--44 S (PR
PR NEAEZNEE T IS JE N
0936730 70 80




	Contents
	Page 1


